
Gulf Oro Industries
 Humble, TX 77346 
 Tel : (281) 881-21-73
 Email:Sales@gulforoind.com
 Website:www.gulforoind.com

Qty In-Stock
Qty In-

Processing

SPACER SPOOLS - 2 1/16" 15M X 2 1/16" 15M 

K8760-021500101 REV00 Spacer Spool, 2 1/16" 15M X 2 1/16" 15M, 12" OAL,  4130-75K, LU, DD, NL PSL-3 10

K8760-021500201 REV00 Spacer Spool, 2 1/16" 15M  X 2 1/16" 15M, 24" OAL , 4130-75K, LU, DD, NL PSL-3 8

K8760-021500301 REV00 Spacer Spool, 2 1/16" 15M  X 2 1/16" 15M, 48" OAL,  4130-75K, LU, DD, NL PSL-3 8

K8760-021500401 REV00 Spacer Spool, 2 1/16" 15M  X 2 1/16" 15M, 72" OAL,  4130-75K, LU, DD, NL PSL-3 8

K8760-021500501 REV00 Spacer Spool, 2 1/16" 15M  X 2 1/16" 15M, 120" OAL,  4130-75K, LU, DD, NL PSL-3 8

SPACER SPOOLS - 2 9/16" 10M X 2 9/16" 10M 

 K8760-251000102 REV00 Spacer Spool, 6A, 2-9/16" 10M x 2-9/16" 10M, 54" OAL, P/U, FF-NL, 410SS, PSL-3 1

SPACER SPOOLS - 4 1/16" 10M X 4 1/16" 10M 

K8760-041000301 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 9.5" OAL, 4130-75K, KU, DD, NL PSL-3 5

K8760-041000201 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 12" OAL, 4130-75K, KU, DD, NL PSL-3 0

K8760-041000101 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 24" OAL, 4130-75K, KU, DD, NL PSL-3 0 12

K8760-041000401 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 0 12

K8760-041000501 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-041000601 REV00 Spacer Spool - 4 1/16" 10M X 4 1/16" 10M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0 5

K8760-041000701 REV00 Spacer Spool-  4 1/16" 10M X 4 1/16" 10M X 72" OAL, 4130-75K, LU, DD, NL PSL-3 0 5

SPACER SPOOLS - 4 1/16" 15M X 4 1/16" 15M 

K8760-041500501 REV00 Spacer Spool - 4 1/16" 15M X 4 1/16" 15M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 12

K8760-041500201 REV00 Spacer Spool - 4 1/16" 15M X 4 1/16" 15M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 5

K8760-041500301 REV00 Spacer Spool - 4 1/16" 15M X 4 1/16" 15M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 0 15

K8760-041500101 REV00 Spacer Spool - 4 1/16" 15M X 4 1/16" 15M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 1 12

K8760-041500401 REV00 Spacer Spool - 4 1/16" 15M X 4 1/16" 15M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0 12

SPACER SPOOLS - 5 1/8" 10M X 5 1/8" 10M 

K8760-051000101 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 12" OAL, 4130-75K, LU, DD, NL PSL-3 5 10

K8760-051000401 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 0 15

K8760-051000201 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 0 15

K8760-051000501 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 0 15

K8760-051000601 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-051000301 REV00 Spacer Spool - 5 1/8" 10M X 5 1/8" 10M X 120" OAL, 4130-75K, LU, DD, NL PSL-3 1 5

SPACER SPOOLS - 5 1/8" 15M X 5 1/8" 15M 

K8760-051500301 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 14" OAL, 4130-75K, KU, DD, NL PSL-3 0 16

K8760-051500401 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 2 10

K8760-051500501 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 5 10

K8760-051500101 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 1 10

K8760-051500201 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-051500901 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 72" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-051500601 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 96" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-051500801 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 120" OAL, 4130-75K, LU, DD-NL PSL-3 0 8

K8760-051500701 REV00 Spacer Spool - 5 1/8" 15M X 5 1/8" 15M X 144" OAL, 4130-75K, LU, DD-NL PSL-3 2

SPACER SPOOLS - 7 1/16" 3M X 7 1/16" 3M 

K8760-070300101 REV00 Spacer Spool - 7 1/16" 3M X 7 1/16" 3M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 0 6

SPACER SPOOLS - 7 1/16" 5M X 7 1/16" 5M 

K8760-070500101 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 12" OAL, 4130-75K, LU, DD-NL PSL-3 1

K8760-070500201 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 14" OAL, 4130-75K, LU, DD-NL PSL-3 3

K8760-070500301 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 0 6

K8760-070500401 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 2 6

K8760-070500501 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0 6

K8760-070500601 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 0 8

add more item in KSAH0001 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 28" - 72" OAL, 4130-75K, LU, DD, NL PSL-3 11

K8760-070500701 Spacer Spool - 7 1/16" 5M X 7 1/16" 5M X 120" OAL, 4130-75K, LU, DD, NL PSL-3 0

SPACER SPOOLS - 7 1/16" 10M X 7 1/16" 10M 

K8760-071000101 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 25

K8760-071000201 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0 15

K8760-071000301 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 3 12

K8760-071000601 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 0 20

K8760-071000401 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 0 20

K8760-071000701 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-071001001 REV01 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 72" OAL, 4130-75K, LU, DD, NL PSL-3 0 6

K8760-071000801 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 96" OAL, 4130-75K, LU, DD-NL PSL-3 8



Gulf Oro Ind Part Number Qty In-Stock
Qty In-

Processing

K8760-071000501 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 120" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-071000901 REV00 Spacer Spool - 7 1/16" 10M X 7 1/16" 10M X 144" OAL, 4130-75K, LU, DD, NL PSL-3 2

SPACER SPOOLS - 7 1/16" 15M X 7 1/16" 15M 

K8760-071500601 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 37 1

K8760-071500901 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 8

K8760-071500101 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 14

K8760-071500201 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 6

K8760-071500301 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 26" OAL, 4130-75K, LU, DD, NL PSL-3 4

K8760-071500801 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 30" OAL, 4130-75K, KU, DD, NL PSL-3 14

K8760-071500401 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 20

K8760-071500701 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-071500501 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0 12

K8760-071501201 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 72" OAL, 4130-75K, LU, DD, NL PSL-3 4

K8760-071501001 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 96" OAL, 4130-75K, LU, DD, NL PSL-3 9 1

K8760-071501101 REV00  Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 120" OAL, 4130-75K, LU, DD, NL PSL-3 2 11

K8760-071501301 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 180" OAL, 4130-75K, LU, DD, NL PSL-3 - 2

K8760-071501401 REV00 Spacer Spool - 7 1/16" 15M X 7 1/16" 15M X 240" OAL, 4130-75K, LU, DD, NL PSL-3 2

SPACER SPOOLS - 11" 3M X 11" 3M 

K8760-110300101 REV00 Spacer Spool - 11" 3M X 11" 3M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 7

K8760-110300201 REV00 Spacer Spool - 11" 3M X 11" 3M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 2

K8760-110300301 REV00 Spacer Spool - 11" 3M X 11" 3M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 7

K8760-110300401 REV00 Spacer Spool - 11" 3M X 11" 3M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 6

K8760-110300501 REV00 Spacer Spool - 11" 3M X 11" 3M X 30" OAL, 4130-75K, LU, DD, NL PSL-3 6

K8760-110300601 REV00 Spacer Spool - 11" 3M X 11" 3M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 6

K8760-110300701 REV00 Spacer Spool - 11" 3M X 11" 3M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 8

SPACER SPOOLS - 11" 5M X 11" 5M 

K8760-110500101 REV00 Spacer Spool - 11" 5M X 11" 5M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-110500201 REV00 Spacer Spool - 11" 5M X 11" 5M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 7

K8760-110500301 REV00 Spacer Spool - 11" 5M X 11" 5M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-110500401 REV00 Spacer Spool - 11" 5M X 11" 5M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-110500501 REV00 Spacer Spool - 11" 5M X 11" 5M X 26" OAL, 4130-75K, LU, DD, NL PSL-3 9

K8760-110500601 REV00 Spacer Spool - 11" 5M X 11" 5M X 28" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-110500701 REV00 Spacer Spool - 11" 5M X 11" 5M X 30" OAL, 4130-75K, LU, DD, NL PSL-3 11

K8760-110500801 REV00 Spacer Spool - 11" 5M X 11" 5M X 32" OAL, 4130-75K, LU, DD, NL PSL-3 8

K8760-110500901 REV00 Spacer Spool - 11" 5M X 11" 5M X 34" OAL, 4130-75K, LU, DD, NL PSL-3 8

K8760-110501001 REV00 Spacer Spool - 11" 5M X 11" 5M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-110501101 REV00 Spacer Spool - 11" 5M X 11" 5M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 12

Spacer Spool - 11" 5M X 11" 5M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 0

SPACER SPOOLS - 11" 10M X 11" 10M 

K8760-111000101 REV00 Spacer Spool - 11" 10M X 11" 10M X 18" OAL, 4130-75K, LU, DD, NL PSL-3 2

K8760-111000201 REV00 Spacer Spool - 11" 10M X 11" 10M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 4

K8760-111000301 REV00 Spacer Spool - 11" 10M X 11" 10M X 22" OAL, 4130-75K, LU, DD, NL PSL-3 5

K8760-111000401 REV00 Spacer Spool - 11" 10M X 11" 10M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 19

K8760-111000501 REV00 Spacer Spool - 11" 10M X 11" 10M X 26" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-111000601 REV00 Spacer Spool - 11" 10M X 11" 10M X 28" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-111000701 REV00 Spacer Spool - 11" 10M X 11" 10M X 30" OAL, 4130-75K, LU, DD, NL PSL-3 0 10

K8760-111000801 REV00 Spacer Spool - 11" 10M X 11" 10M X 32" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-111000901 REV00 Spacer Spool - 11" 10M X 11" 10M X 34" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-111001001 REV00 Spacer Spool - 11" 10M X 11" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 2

K8760-111001201 REV00 Spacer Spool - 11" 10M X 11" 10M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 0 8

K8760-111001101 REV00 Spacer Spool - 11" 10M X 11" 10M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 3

SPACER SPOOLS - 13 5/8" 3M X 13 5/8" 3M 

K8760-130300101 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 14" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-130300201 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 4

K8760-130300301 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 3

K8760-130300401 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 7

K8760-130300501 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 30" OAL, 4130-75K, LU, DD, NL PSL-3 4

K8760-130300601 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 2



Gulf Oro Ind Part Number

  

Qty In-Stock
Qty In-

Processing

K8760-130300701 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 6

K8760-130300801 REV00 Spacer Spool - 13 5/8" 3M X 13 5/8" 3M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 11

SPACER SPOOLS - 13 5/8" 5M X 13 5/8" 5M 

K8760-130500101 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 16" OAL , 4130-75K, LU, DD, NL PSL-3 0 12

K8760-130500201 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 18" OAL , 4130-75K, LU, DD, NL PSL-3 13

K8760-130500301 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 20" OAL , 4130-75K, LU, DD, NL PSL-3 0

K8760-130500401 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 22" OAL , 4130-75K, LU, DD, NL PSL-3 6

K8760-130500501 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 24" OAL , 4130-75K, LU, DD, NL PSL-3 0 15

K8760-130500601 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 26" OAL , 4130-75K, LU, DD, NL PSL-3 2

K8760-130500701 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 28" OAL , 4130-75K, LU, DD, NL PSL-3 11

K8760-130500801 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 30" OAL , 4130-75K, LU, DD, NL PSL-3 6

K8760-130500901 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 32" OAL , 4130-75K, LU, DD, NL PSL-3 2

K8760-130501001 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 34" OAL , 4130-75K, LU, DD, NL PSL-3 1

K8760-130501101 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 36" OAL , 4130-75K, LU, DD, NL PSL-3 0 10

K8760-130501201 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 48" OAL , 4130-75K, LU, DD, NL PSL-3 1

K8760-130501301 REV00 Spacer Spool - 13 5/8" 5M X 13 5/8" 5M X 60" OAL , 4130-75K, LU, DD, NL PSL-3 4

SPACER SPOOLS - 13 5/8" 10M X 13 5/8" 10M 

K8760-131000101 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-131000201 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 22" OAL, 4130-75K, LU, DD, NL PSL-3 13

K8760-131000301 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-131000401 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 26" OAL, 4130-75K, LU, DD, NL PSL-3 10

K8760-131000501 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 28" OAL, 4130-75K, LU, DD, NL PSL-3 11

K8760-131000601 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 30" OAL, 4130-75K, LU, DD, NL PSL-3 15

Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 32" OAL, 4130-75K, LU, DD, NL PSL-3 2

K8760-131001001 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 12

K8760-131000801 REV00  Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 48" OAL, 4130-75K, LU, DD, NL PSL-3 10 1

K8760-131000701 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 60" OAL, 4130-75K, LU, DD, NL PSL-3 8 3

K8760-131000901 REV00 Spacer Spool - 13 5/8" 10M X 13 5/8" 10M X 96" OAL, 4130-75K, LU, DD, NL PSL-3 2 5

ADAPTER SPOOLS

K8770-051000301 REV00 Adapter Spool - 5 1/8" 15M X 5 1/8" 10M x 13" OAL, 6A, 4130 75K NACE, DD-NL,LU, PSL-3 5

K8770-051500301 REV00 Adapter Spool - 7 1/16" 5M X 5 1/8" 15M, 6A, 4130-75K, LU, DD, NL PSL-3 6

K8700-041000301 Adapter Spool - 7 1/16" 10M X 4 1/16" 10M X 13.2" OAL, 6A, 4130 75K, EE-NL, KU, PSL-1 27

K8700-041500101 Adapter Spool - 7 1/16” 10M X 4 1/16” 15M (10000 MAX WP) X 14" OAL, 6A, 4130 75K, EE-NL, KU, PSL-1 8

K8770-051000101 REV00 Adapter Spool - 7 1/16" 10M X 5 1/8" 10M X 13.5" OAL, 6A, 4130 75K NACE, EE-NL, KU, PSL-3 13

K8770-051500201 REV00 Adapter Spool - 7 1/16" 10M X 5 1/8" 15M, 6A, 4130 75K NACE, EE-NL,LU, PSL-3 0 16

K8770-070500101 REV00 Adapter Spool - 7 1/16" 10M X 7 1/16" 5M, 6A, 4130-75K, LU, DD-NL PSL-3 0 12

K8700-041500201 REV01 Adapter Spool - 7 1/16" 15M X 4 1/16" 15M, 6A, 4130 75K NACE, EE-NL, KU, PSL-3 67

K8770-070500201 REV00 Adapter Spool - 7 1/16" 15M X 7 1/16" 5M, 6A, 4130-75K, LU, DD-NL PSL-3 5

K8770-051500101 REV00 Adapter Spool - 7 1/16” 15M X 5 1/8” 15M X 15.66" OAL, 6A, K/U, EE-NL, 4130 75K NACE, PSL-3 5

K8770-071000101 REV00 Adapter Spool - 7 1/16" 15M (10000 MAX WP) X 7 1/16" 10M X 15.866", 6A, K/U, EE-NL, 4130 75K NACE, PSL-3 0 20

301003-001 Adapter Spool - 11" (RX-54) 5M X 11" (RX-53) 3M x 16" OAL RTJ 0

K8750-070500101 Adapter Spool - 11" 10M X 7 1/16" 5M X 15" OAL, 6A, L/U, DD-NL, 4130 75K NACE, PSL-3 1

WELD NECK FLANGES -  5 1/8" 15M  

Weld Neck - 5 1/8" 15M X 5.5" OAL, 4130-75K, LU, DD, NL PSL-3 8

WELD NECK FLANGES -  7" 5M  

Weld Neck - 7" 5M X 11" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-070500101 REV00 Weld Neck - 7" 5M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 22

WELD NECK FLANGES -  7" 10M  

K8460-071000101 REV00 Weld Neck - 7" 10M X 11" OAL, 4130-75K, LU, DD, NL PSL-3 7

K8460-071000201 REV00 Weld Neck - 7" 10M X 36" OAL, 4130-75K, LU, DD, NL PSL-3 4

WELD NECK FLANGES -  11" 5M  

Weld Neck - 11" 5M X 12" OAL, 4130-75K, LU, DD, NL PSL-3 0

Weld Neck - 11" 5M X 14" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-110500101 REV00 Weld Neck - 11" 5M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 1

Weld Neck - 11" 5M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0

WELD NECK FLANGES -  11" 10M  

Weld Neck - 11" 10M X 12" OAL, 4130-75K, LU, DD, NL PSL-3 0



Gulf Oro Ind Part Number

  

Qty In-Stock
Qty In-

Processing

K8460-111000101 REV00 Weld Neck - 11" 10M X 14" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-111000201 REV00 Weld Neck - 11" 10M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 1

Weld Neck - 11" 10M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0

WELD NECK FLANGES -  13 5/8" 3M  

Weld Neck - 13 5/8" 3M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 8

WELD NECK FLANGES -  13 5/8" 5M  0

Weld Neck - 13 5/8" 5M X 12" OAL, 4130-75K, LU, DD, NL PSL-3 0

Weld Neck - 13 5/8" 5M X 14" OAL, 4130-75K, LU, DD, NL PSL-3 0

Weld Neck - 13 5/8" 5M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-130500101 REV00 Weld Neck - 13 5/8" 5M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0

WELD NECK FLANGES -  13 5/8" 10M  

Weld Neck - 13 5/8" 10M X 12" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-131000101 REV00 Weld Neck - 13 5/8" 10M X 14" OAL, 4130-75K, LU, DD, NL PSL-3 0

K8460-131000201 REV00 Weld Neck - 13 5/8" 10M X 16" OAL, 4130-75K, LU, DD, NL PSL-3 4

Weld Neck - 13 5/8" 10M X 20" OAL, 4130-75K, LU, DD, NL PSL-3 0

Weld Neck - 13 5/8" 10M X 24" OAL, 4130-75K, LU, DD, NL PSL-3 0

DOUBLE STUDDED ADAPTER

K8260-020500201 REV00 DSA - 2 1/16" 10M X 2 1/16" 5M, Studs and Nuts not Included, LU, DD, PSL-3, PR-1 0

K8260-011500101 DSA - 2 1/16" 15M X 1 13/16" 15M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 6

K8260-021000101 DSA - 2 1/16" 15M X 2 1/16" 10M, Studs and Nuts not Included, LU, DD, PSL-3, PR-1 5

K8260-020500101 DSA - 2 9/16" 10M X 2 1/16" 5M, Studs and Nuts not Included, LU, DD, PSL-3, PR-1 3

K8260-021000201 DSA - 3 1/16" 10M X 2 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 0

K8260-031000101 DSA - 3 1/16" 15M X 3 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 0

K8260-030500101 DSA - 4 1/16" 5M X 3 1/8" 5M, with B7 Zinc-Plated Studs & 2H Nuts, PU, DD, PSL-3, PR-1 5

K8260-021000301 DSA - 4 1/16"10M X 2 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, PU, DD, PSL-3, PR-1 27

K8260-021000301 DSA - 4 1/16"10M X 2 1/16" 10M, Studs & Nuts not Included, PU, DD, PSL-3, PR-1 28

K8260-031000201 DSA - 4 1/16"10M X 3 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, PU, DD, PSL-3, PR-1 5

K8260-040500101 DSA - 7 1/16" 5M X 4 1/16" 5M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 6

K8260-021000501 DSA - 7 1/16" 10M X 2 9/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 2

KA8110-070500101 REV00 DSA - 7 1/16" 10M X 7 1/16" 5M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 2

K8260-051500101 DSA - 7 1/16" 15M X 5 1/8" 15M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 4

K8260-070300101 DSA - 11" 3M X 7 1/16" 3M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 0

K8260-070500201 DSA - 11" 5M X 7 1/16" 5M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 9

K8260-070500201 DSA - 11" 5M X 7 1/16" 5M, Studs and Nuts not Included, LU, DD, PSL-3, PR-1 2

K8260-110300101 DSA - 11" 5M X 11" 3M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 4

K8260-041000101
DSA - 11" 10M X 4 1/16" HOLE, with B7 Zinc-Plated Studs & 2H Nuts on 11" 10M Side, LU, DD, PSL-3, PR-1 (This item can be made for 

different DSA from 11" 10M to other sizes as soon as OD meet 25 3/4" OD)
6

K8260-071000101 DSA - 11" 10M X 7 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 5

K8260-110300301 DSA - 13 5/8" 3M X 11" 3M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 8

K8260-110300301 DSA - 13 5/8" 3M X 11" 3M, Studs and Nuts not Included, LU, DD, PSL-3, PR-1 1

K8260-130300101 DSA - 13 5/8" 5M X 13 5/8" 3M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 11

KA8110-110500201 REV00 DSA - 13 5/8" 5M X 11" 5M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 0 10

K8260-071000201 DSA - 13 5/8"10M X 7" 10M, with B7 Zinc-Plated Studs & 2H Nuts, PU, DD, PSL-3, PR-1 7

KA8110-110500101 REV00 DSA - 13 5/8" 10M X 11" 5M, Studs and Nuts not Included, PU, DD, PSL-3, PR-1 0 10

KA8110-111000201 REV00 DSA - 13 5/8" 10M X 11" 10M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 0 10

KA8110-130500101 REV00 DSA - 13 5/8" 10M X 13 5/8" 5M, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 10

Casing Heads: CASING HEADS - SOW= SLIP-ON WELD, LPO= LINE PIPE OUTLETS, SSO= SIDE STUDDED OUTLETS

K8730-110300101 Casing Head - C22, 11" 3M X 8 5/8" SOW, W/2 - 2" LPO, 6A, LU, DD, PSL-1, PR-1, w/ O-Ring Prep 24

K8700-110301201 Casing Head - C22, 11" 3M X 8 5/8" SOW, W/2 - 2" LPO, 6A, EE-NL, K/U, 4130 75K NACE, PSL-1, PR-1, w/ O-Ring Prep 55

K8730-110300201 Casing Head - C22-BP, 11" 3M X 8 5/8" SOW, W/2 - 2" LPO, 6A, LU, DD, PSL-1, PR-1 / with two lock screw 36

K8730-110300301 Casing Head - C22-EG, 11" 3M X 8 5/8 SOW, W/2 - 2" LPO, 6A, DD, K−U, PSL 2, PR-1 / with base plate prep. 4

Casing Head - C22, 11" 3M X 9 5/8" SOW, W/2 - 2" LPO, 6A, LU, DD, PSL-1, PR-1 0

K8730-110300401 Casing Head - C22-BP, 11" 3M X 9 5/8" SOW, W/2 - 2" LPO, 6A, LU, DD, PSL-1, PR-1 31

K8730-110500101 Casing Head - C22-EG, 11" 5M X 8 5/8 SOW, W/2 - 2" LPO, 6A, DD, K−U, PSL 2, PR-1 18

K8730-110500201 Casing Head - C22-EG, 11" 5M X 8 5/8 SOW, W/2 - 2 1/16" 5M SSO, 6A, DD, K-U, PSL-2, PR-1 0

K8730-110500301 
Casing Head - C22, 11" 5M X 9 5/8" SOW,  With O-ring Prep, W/2 - 2 1/16" 5M SSO, w/1-1/2" Sharp Vee Thread, 6A, LU, DD, PSL-1, PR-

1
37

K8730-130500101 Casing Head - C22, 13 5/8" 5M X 13 3/8" SOW, W/2 - 2 1/16' 5M SSO, 6A, LU, DD, PSL-1, PR-1 16

Casing Head, 6A, C22, 13 5/8" 5M X 13 3/8" SOW, W/ 2" LPO, K/U, EE-NL, 4130 75K NACE, PSL-3, PR-1 60 60

K8700-130500201 Casing Head - C22, 13 5/8" 5M X 13 3/8" 8RD, W/2 - 2" LPO, PSL-1 1



Gulf Oro Ind Part Number

  

Qty In-Stock
Qty In-

Processing

CASING HANGERS

KA8110-01 REV00 Casing Hanger - Assy, C22, 11" X 5 1/2", API 6A, PU, AA, PSL-1, PR-1 45

KA8110-02 REV00 Casing Hanger - Assy, C22, 13 5/8" X 8 5/8", API 6A, PU, AA, PSL-1, PR-1 100

CASING SPOOLS:  BG=BTM PREP, ACCEPTS A WIDE VARIETY OF SECONDARY SEALS, SSO= SIDE STUDDED OUTLETS, BP=  (Bowl Protector) W/ LOCKDOWN SCREWS TO HOLD WEAR BUSHINGS

KA8740-110300100 Casing Spool, Assy - C22-BG, 9", 11" 3M X 11" 3M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-1, PR-1 0

KA8740-110500100 Casing Spool, Assy - C22-BG, 9", 11" 5M X 11" 10M, W/2 - 1 13/16" 10M SSO, 6A, LU, DD, PSL-1, PR-1 16

Casing Spool, Assy - C22-BG, 9 5/8", 13 5/8" 3M X 11" 3M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-2, PR-1 0

Casing Spool, Assy - C22-BG, 9 5/8", 13 5/8" 3M X 11" 5M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-2, PR-1 0

KA8740-110500200 Casing Spool, Assy - C22-BG, 10 3/4, 13 5/8 3M X 11" 5M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-2, PR-1 38

KA8740-110500300 Casing Spool, Assy - C22-BP-BG, 10 3/4, 13 5/8 3M X 11" 5M, W/2 - 2 1/16" 5M SSO, 6A, PU, DD, PSL-1, PR-1 26

Casing Spool, Assy - C22-BG, 10 3/4", 13 5/8" 3M X 11" 5M, W/2 - 2 1/16" 5M SSO, 6A, K/U, EE-NL, PSL-3, PR-1 9

KA8740-110500400 Casing Spool, Assy - C22-BG, 10 3/4", 13 5/8" 5M X 11" 5M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-2, PR1 7

DRRILLING SPOOL

Drilling Spool, 6A, Ass'y, 7-1/16" 15M x 7-1/16" 15M with 4-1/16" 15M SSO, K/U, EE-NL, PSL-3 1

SECONDARY SEALS

Secondary Seal, PE, Assy, 10 3/4" X 8 5/8" 49

Secondary Seal, PE, Assy, 10 3/4" X 9 5/8" 49

TUBING HEADS (SPOOLS): BG=BTM PREP, ACCEPTS A WIDE VARIETY OF SECONDARY SEALS, SSO= SIDE STUDDED OUTLETS, HPE = FOR HIGH PRESSURE APPLICATIONS

KA8770-070300100 Tubing Spool, Assy - TCM-ET-BG, 9”, 11” 3M X 7 1/16” 3M, W/2 - 2 1/16” 5M SSO, 6A, PU, DD, PSL-2, PR-1 50

Tubing Spool, Assy - TCM-ET-BG, 7", 11" 3M X 7 1/16" 5M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-2, PR-1 1

Tubing Head, 6A, TCM- ET, 9" BG, 11" 3M X 7 1/16" 5M, 2 1/16" 5M SSO, 6 LDP, K/U, DD-NL 4130 PSL3 PR1 51 51

KA8770-070500200 Tubing Spool, Assy - TCM-ET-BG, 7", 11" 5M X 7 1/16" 5M, W/2 - 2 1/16" 5M SSO, 6A, KU, DD, PSL-2, PR-1 1

KA8770-070500100 Tubing Spool, Assy - TCM-ET-BG, 7", 11" 5M X 7 1/16" 5M, W/2 - 2 1/16" 5M SSO, 6A, KU, DD, PSL-1, PR-1 3

K8740-070500201 REV00 Tubing Spool, Assy - TCM-ET-BG, 9", 11" 5M X 7 1/16" 5M, W/2 - 2 1/16" 5M SSO, 6A, LU, DD, PSL-3, PR-1 6

TBG HD, 6A, TCM, ET, 9" BG, 11" 5M X 7 1/16" 5M, W/2 1/16" 5M SSO, 6 LDP, DDNL, 4130, KU, PSL3, PR1 18 18

KA8770-070500300 Tubing Spool, Assy - TCM-ET-BG, 9", 11" 5M X 7 1/16" 5M, W/2 - 2 1/16" 5M SSO, 6A ,PU, DD, PSL-2, PR-1 1

Tubing Spool, Assy - TCM-ET, 7" DBL FS/BG BTM PREP,  11" 5M X 7 1/16" 10M, W/2 - 1 13/16" 10M SSO. 6A, LU, DD, PSL-1, PR-1 0

K8700-071000201 Tubing Spool, Assy - TCM-ET, 9" BG, 11" 5M X 7 1/16" 10M, 1 13/16" 10M SSO, 8 LDP, 6A, KU, DD-NL, PSL-3, PR1 0

KA8770-071500100 Tubing Spool, Assy - TCM-ET-HPE, 9", 11" 10M X 7 1/16" 15M, W/2 - 1 13/16" 15M SSO, 6A, LU, DD, PSL-2, PR-1 1

K8740-070500101 REV00 Tubing Spool, Assy - TCM-ET, 9" BG, 13 5/8" 3M X 7 1/16" 5M, 2 1/16" SSO, 6 LDP, KU, DD-NL, 4130, PSL3, PR-1 21

REDUCER BUSHING BODY, BG W/ SLICK OD/2−CFS, 7" X 5 1/2", 10M, EE, KU, PSL-1, PR-1 43

TREE CAPS (BHTA - BOTTOM HOLE TEST ADAPTERS)

KA8400-020500102 REV00 Tree Cap, B15A, 2 1/16" 5M X 2 3/8" EU, 6A, PU, FF-NL, 410SS, PSL-3 (No Seal/Snap Rings) 19

KA8401-021000100 Tree Cap, B15A, 2 1/16" 10M X 2 3/8" EU, 6A, KU, EE-NL, 4130 75K NACE, PSL-3 (No Seal (size SH-387)/Snap Rings (O-ring size#235) 3

KA8401-020500700 Tree Cap - B15A, 2 9/16" 5M X 2 7/8" UPTBG ILT, 6A, SX, AA, DD, PSL-2, PR-1 0

KA8401-020500402 Tree Cap - B15A, 2 9/16" 5M X 2 7/8" EU, 6A, KU, FF-NL, 410SS, PSL-3 (No Seal/Snap Rings) 137

KA8401-020500402 Tree Cap - B15A, 2 9/16" 5M X 2 7/8" EU, 6A, KU, FF-NL, 410SS, PSL-3 10

KA8401-021000201 Tree Cap - B15A, 2 9/16" 10M X 2 7/8" EU, KU, 6A, EE-NL, 4130 75K NACE, PSL-3 (No Seal/Snap Rings) 69

KA8401-030500101 REV00 TREE CAP, 3 1/8" 5M X 3 1/2"8RD, 4130 , (No Seal/Snap Rings) 2

KA8401-030500202 REV00 TREE CAP, 3 1/8" 5M X 3 1/2"8RD, 410SS,  (No Seal/Snap Rings) 24

KA8401-040500202 REV00 Tree Cap - B15A, 4 1/16" 5M X 4 1/2" EU, 6A, P/U, FF-NL, 410 SS, PSL-3 (No Seal/Snap Rings) 9

KTH ATTACHMENTS

KTH ATCH, Assy - 612, 7 1/16" 3M X 2 7/8" SLIP, LU, DD, PSL-2, PR-1 0

KTH ATCH, Assy - 612, 7 1/16" 5M X 2 3/8" SLIP, LU, DD, PSL-2, PR-1 181

TUBING HEAD ADAPTERS

K8130-250500101 REV00 BO2 Adapter,7 1/16" 3M X 2 9/16" 5M 7

KD8140-070200100 REV00 Adapter - B-1, 7 1/16" 2M X 2 3/8" EU, PU, DD, PSL-1, PR1 1

K8210-070200101 Adapter - B-1, 7 1/16" 2M X 2 7/8" EU, PU, DD, PSL-1, PR1 189

K8210-070300201 Adapter - B-1, 7 1/16" 3M X 2 3/8" UPTBG, 4130-60K, LU, DD, PSL-1, PR-1. 11

K8210-070300101 Adapter - B-1, 7 1/16" 3M X 2 7/8" UPTBG, 4130-60K, LU, DD, PSL-1, PR-1. 3

Adapter - B-1, 7 1/16" 5M X 2 7/8" EUE 8RD, 4130-60K, LU, DD, PSL-1, PR-1 0

K8200-070500401 Adapter - B-1, 7 1/16" 5M X 3 1/2" EUE 8TPI, 4130-60K 0

Adapter - B2P, 7 1/16" 3M X 2 9/16" 5M, W/ 2 7/8" UPTBG, 4130-60K, LU-DD-1-1 (Not Studded) 0

K8210-020500101 Adapter - B2P, 7 1/16" 5M X 2 1/16" 5M, W/ 2 3/8" EUE BOX THD, 4130 0

K8210-020500201 Adapter - B2P, 7 1/16" 5M X 2 9/16" 5M, W/ 2 7/8" EUE BOX THD, 4130 50

CROSSES

KA8800-020500100 Stdd Cross, Assy - 2 9/16" 5M Run X 2 1/16" 5M Outlets, with B7 Zinc-Plated Studs & 2H Nuts, 6A, LU, DD, PSL-2, PR-1 11

K8800-020500501 Stdd Cross, Assy - 2 9/16" 5M Run X 2 1/16" 5M, 6A, KU, EE-NL, 4130 NACE 75K, PSL-3, PR-1, Studs & Nuts Not Included 175

Stdd Cross, Assy - 4 1/16" 10M Run X 2 1/16" 10M Outlets, LU, DD, PSL-2, PR-1 0



Gulf Oro Ind Part Number

  

Qty In-Stock
Qty In-

Processing

K8800-040300101 REV01 Stdd Cross, Assy - 4 1/16" 3M x Blank (outlet), with B7 Zinc-Plated Studs & 2H Nuts, 6A, LU, DD, PSL-2, PR-1 0

KA8841-041000101 REV00 Stdd Cross, Assy - 4 1/16" 10M Run X 4 1/16" 10M Outlets, with B7 Zinc-Plated Studs & 2H Nuts, PU, DD, PSL-3, PR-1 1

KA8841-041000101 REV00 Stdd Cross, Assy - 4 1/16" 10M Run X 4 1/16" 10M Outlets, with B7 Zinc-Plated Studs & 2H Nuts, LU, DD, PSL-3, PR-1 10

K8800-051000301 Stdd Cross, Assy - 5 1/8" 10M Run X 4 1/16" 10M Outlets, 6A, KU, EE-NL, with B7 Zinc-Plated Studs & 2H Nuts 10

K8800-051000501 Stdd Cross, Assy - 5 1/8" 10M Run X 5 1/8" 10M, with B7 Zinc-Plated Studs & 2H Nuts 5

K8821-051000101 REV00 Stdd Cross, Assy - 5 1/8" 10M Run X BLANK (4" Max), EE-NL, 4130 75K, NACE, Forged, PSL-3, Studs & Nuts Not Included 6

KA8800-070500101 Stdd Cross, Assy - 7 1/16" 5M Run X 7 1/16" 5M Outlets, with B7 Zinc-Plated Studs & 2H Nuts, LU, EE, PSL-3, PR-1 2

Stdd Cross, Assy - 7 1/16" 10M Run X 2 1/16" 10M Outlets, LU, DD, PSL-2, PR-1 0

KA8841-071000201 REV00 Stdd Cross, Assy - 7 1/16" 10M x 4 1/16" 10M, with B7 Zinc-Plated Studs & 2H Nuts 0 8

KA8841-071000101 REV00 Stdd Cross, Assy - 7 1/16" 10M Run X 7 1/16" 10M Outlets, NACE 75K, 6A, PSL-3, with B7 Zinc-Plated Studs & 2H Nuts 8

KA8821-071000301 REV00 Stdd Cross, 7 1/16" 10M X Blank (outlet), Square, 4130-75K, LU, DD, NL PSL-3 10

K8821-071000101 REV00 Stdd Cross, Assy - 7 1/16" 10M Run x BLANK (4" Max), EE-NL, 4130 75K, NACE, Forged, PSL-3, Studs & Nuts Not Included 5

KA8821-071000201 REV00 Stdd Cross, 7 1/16" 10M Run x BLANK (5" 15M Max), EE-NL, 4130 75K, NACE, Forged, PSL-3 6

KA8821-071500201 REV00 Stdd Cross, 7 1/16" 15M RUN X BLANK (OUTLET), SQUARE, 4130-75K,  EE-NL, PSL-3 10

K8821-071500101 REV00 Stdd Cross, Assy - 7 1/16" 15M Run X BLANK (4" Max), EE-NL, 4130 75K, NACE, Forged, PSL-3, 0 25

KA8841-071500201 REV00 Stdd Cross, Assy - 7 1/16" 15M x 4 1/16" 15M, with B7 Zinc-Plated Studs & 2H Nuts 0 25

KA8841-071500101 REV00 Stdd Cross, Assy - 7 1/16” 15M Run x 7 1/16” 15M Outlets, PSL-3, with B7 Zinc-Plated Studs & 2H Nuts 0 25

TEES

Stdd Tee - 2 1/16" 5M R-24, 4130 studs and nuts not included 1

K8800-021000502 REV01 Stdd Tee - 2 1/16" 10M Run X 1 13/16" 10M Wing, 410SS, API 6A, 0

KA8831-251000101 REV00 Stdd Tee - 2 9/16" 10M Run X 1 13/16” 10M, 6A, KU, DD, PSL-1, PR-1 (Studs & Nuts Not Included) 5

KA8800-020500200 Stdd Tee - 2 9/16" 5M Run X 2 9/16” 5M, 4130-60K, 6A, LU, DD, PSL-1, PR-1 (Studs & Nuts Not Included) 16

K8800-030501001 REV01 Stdd Tee - 3 Way, 3 1/8" 5M X 3 1/8" 5M X 3 1/8" 5M, R-35 (Studs & Nuts Not Included) 1

K8831-051000101 REV00 BODY, TEE, 5-1/8 API 10000 RUN W/5-1/8 API 10000 OUTLET (ALL STDD)API 6A 19TH ED; T/C STU; M/C DD-NL;PSL-3 No Stud and Nut 1

KA8831-051500201 REV00 Stdd Tee, 5 1/8" 15M  X 4-1/16"15, 4130-75K,  LU, DD-NL, PSL-3 12

K8831-051500101 REV00 
BODY, STUDDED TEE, 5-1/8 API 15K STUDDEDTOP AND BTM WITH 5-1/8 API 15K STUDDEDSIDE OUTLET, MIN BORE: 5.12, API 6A,T/C: 

K-V, M/C: AA, BB, DD, EE, PSL-3 No stud and nut
2

KA8831-051500101 REV00 Stdd Tee, 5 1/8" 15M  X 5 1/8"15, 4130-75K,  LU, DD-NL, PSL-3 12

KA8831-071000201 REV00  Stdd Tee, Assy - 7 1/16" 10M Run X 7 1/16" 10M Outlets, NACE 75K, 6A, PSL-3, with B7 Zinc-Plated Studs & 2H Nuts 1 20

KA8831-071000201 REV00  Stdd Tee, 7-1/16" 10M x 7-1/16" 10M ; API 6A;  LU, DD-NL; TEMP CL L, PSL-3, 0 10

KA8831-071500101 REV00 Stdd Tee - 3 Way, 7 1/16” 15M, PSL-3, with B7 Zinc-Plated Studs & 2H Nuts 0 25

FLANGES

K8440-021500101 Blind Flange - 2 9/16" 15M, 6A, 4130-75K, LU, DD, PSL-1, PR-1, with 9/16" auto clave test port 15

K8400-041000101 REV03 Blind Flange - 4 1/16" 10M, 6A, KU, EE-NL, 4130 NACE 75K, PSL-3 89

K8400-070500301 REV01 Blind Flange - 7 1/16" 5M with Hub, 6A, KU, EE-NL, 4130 NACE 75K, PSL-3 8

K8210-071000101 REV00 Blind Flange - 7 1/16” 10M, 4130-75K,  KU, DD-NL, PSL-3 10 25

K8210-071500101 REV00 FLANGE, BLIND, 7 1/16” 15M,  K/U, EE-NL, 4130 75K NACE, PSL-3 0 25

K8420-020500101 Companion Flange - 2 1/16" 5M X 2 3/8" UPTBG, 4130-60K, LU, DD, PSL-1, PR-1 0

WECO FLANGE

 KA8410-011500101 REV00 FLANGE, WECO, 6A, 1 13/16" 15M X 2" 1502, FEMALE HALF, PLUG 9/16 AUTOCLAVE & NUT,PSL3, KU, EE-NL,4130 24

KA8410-021000101 REV00 Weco Flange - 2 1/16" 10M X 2" 1502 w/ nut & plug 0 15

KA8410-021500101   REV00 FLANGE, WECO, 6A, 2 1/16" 15M X 2" 1502, FEMALE HALF, PLUG 9/16 AUTOCLAVE & NUT, PSL3,KU, EE-NL, 4130 8

KA8410-031000101  REV00 FLANGE, WECO, 6A, 3 1/16" 10M X 3" 1502, FEMALE HALF, BLANK PLUG & NUT,PSL3, KU, EE-NL, 4130 9

KA8410-031500101 REV00 FLANGE, WECO, 6A, 3 1/16" 15M X 3" 1502, FEMALE HALF, BLANK PLUG & NUT, PSL3, K/U, EE-NL,4130 23

KA8410-040500101 REV00 WECO,UNION, 6A, 4 1/16" 5M X 4" FIG. 1002 Female Half, w/ nut & BLANK plug 0 20

KA8410-040500201 REV00 WECO, UNION, 6A, 4 1/16" 5M X 4" FIG. 1002 Male Half, w/ nut & CUTTING SLEEVE & SNAP 0 20

KA8410-041000301 REV00 Weco Flange - 4 1/16" 10M X 4" 1002, FEMALE HALF, W/NUT & 1/2" NPT PLUG, 6A, K/U, EE-NL, PSL-3, 119

KA8410-041000301 REV00 Weco Flange - 4 1/16" 10M X 4" 1002, FEMALE HALF W/NUT & BLANK PLUG, 6A, K/U, EE-NL, PSL-3, 24

KA8410-041000501 REV00 Weco Flange - 4 1/16" 10M X 4" 1502, FEMALE HALF,  6A, K/U, EE-NL, PSL-3, 21 174

KA8410-041000601 REV00 WECO, 4 1/16" 10M X 3" 1502, Female half w/ nut & plug with 1/2" NPT 29 61

K8413-041500101 REV00 Spares, 4" 1502 Nut, Plug, seal ring and snap ring 14

KA8410-041500200 REV00 FLANGE WECO, 6A, 4 1/16" 15M X 3" 1502, FEMALE 1/2, PLUG 9/16" AUTOCLAVE & NUT, K/U, EE-NL, PSL-3 0 50

KA8410-041500101 REV01 Weco Flange - 4 1/16" 15M X 4" 1502, FEMALE HALF w/ Nut & Blank Plug 3

KA8410-041500101 REV00 Weco Flange - 4 1/16" 15M X 4" 1502, FEMALE HALF w/ Nut & Plug with 9/16" Autoclave 51

FLOW TEE

Flow Tee - FTS, 2 3/8” UPTBG X 2" LPO X 2 3/8” UPTBG INT LIFT THRD CW TOP Cap Assy, 1/2” NPT Tapped, LU, PSL-2 114

NEEDLE VALVES



Gulf Oro Ind Part Number

  

Qty In-Stock
Qty In-

Processing

Needle Valves - 1/2" X 10M, M X F, Hard Seat Assembly. Carbon Steel, 6A, DD, T-LU, PSL-1 17

FRAC HEAD

KA8801-041000100 
Frac Head, Assy - 4 1/16” 10M X 4 1/16” 10M, Stdd Top & Stdd Bottom, W/(4) 4 1/16” 10M SSO - 45 Degree Angle API 6A Monogram, 

PU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts 
42

KA8801-041500100 
Frac Head, Assy - 4 1/16” 15M X 4 1/16” 15M, Stdd Top & Flanged Bottom, W/(5) 4 1/16” 15M SSO – 60 Degree Angle API 6A 

Monogram, PU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts    
6

KA8801-051000100 
Frac Head, Assy - 5 1/8” 10M X 5 1/8” 10M, Stdd Top & Stdd Bottom, W/(5) 4 1/16” 10M SSO – 60 Degree Angle, API 6A Monogram, 

PU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts 
5

KA8815-051500101 REV00
Frac Head, Assy - 5 1/8” 15M X 5 1/8” 15M, Stdd Top & Stdd Bottom, W/(6) 4 1/16” 15M SSO – 45 Degree Angle API 6A Monogram, 

PU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts    
1 15

K8800-051500401
Frac Head, Assy - 5 1/8" 15M X 5 1/8" 15M, Stdd Top & Stdd Bottom, W/(6) 4 1/16" 15M SSO, 4130 75K, PSL-3, EE-NL, K/U, Studs and 

Nuts not Included. 
9

KA8813-071000101 REV00
Frac Head, Assy - 7 1/16” 10M X 7 1/16” 10M, Stdd Top & Stdd Bottom, W/(4) 4 1/16” 10M SSO – 45 Degree Angle API 6A Monogram, 

KU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts  
5

KA8815-071000101 REV00
Frac Head, Assy - 7 1/16” 10M X 7 1/16” 10M, Stdd Top & Stdd Bottom, W/(6) 4 1/16” 10M SSO –  45 Degree Angle, API 6A 

Monogram, KU, EE-NL, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts  
3 15

KA8815-071500101 REV00
Frac Head, Assy - 7 1/16” 15M X 7 1/16” 15M, Stdd Top & Stdd Bottom, W/(6) 4 1/16” 15M SSO – 45 Degree Angle API 6A Monogram, 

KU, EE, PSL-3, PR-1, with B7 Zinc-Plated Studs & 2H Nuts  
0 10

K8800-071500401 
Frac Head, Assy - 7 1/16" 15M X 7 1/16" 15M, Stdd Top & Stdd Bottom, W/(6) 4 1/16" 15M SSO, API 6A Monogram, 4130 75K, PSL-3, 

EE-NL, K/U, Studs and Nuts not Included. 
1

WKM STYLE GATE VALVES -  FE= FLANGED END, HWO=  HANDWHEEL OPERATED

KA9000-020500100 Gate Valve - WKM, Cast Body, HWO, 2 9/16" 5K, FE, PU, FF, PSL-2, PR-1 0

Gate Valve - WKM, Cast Body, HWO, 2 1/16" 5K, FE, PU, FF, PSL-2, PR-1 0

Gate Valve - WKM, Cast Body, HWO, 2 1/16" 5K x 2 3/8" EUE8RD End, PU, DD, PSL-1, PR-1 0

Gate Valve - WKM, Cast Body, HWO, 3 1/8" 5K, FE, LU, DD-NL, PSL-2, PR-1 0

Gate Valve - WKM, Cast Body, HWO, 7 1/16" 3K, FE, LU, DD, PSL-1, PR-1 0

Gate Valve - WKM, Cast Body, HWO, 7 1/16" 5K, FE, LU, DD-NL, PSL-2, PR-1 0

Gate Valve - WKM SLAB, 7 1/16" 5K PSI, FE, LU, DD, PSL-2, PR-1 0

GATE VALVES: FC STYLE GATE VALVES -  FE= FLANGED END, HWO=  HANDWHEEL OPERATED, BSO= Ball Screw Operated

Gate Valve - FC Forged, 1 13/16" 10M, FE, HWO, LU, EE, PSL-3, PR-1 0

KA9000-011000100 Gate Valve - FC Forged, 1 13/16" 10M, FE, PU-EE-0.5, PSL-3, PR-1 0

KA9000-011500100 Gate Valve - FC, 1 13/16” 15M, FE, HWO, LU, EE, PSL-3, PR-1 0

Gate Valve - FC Forged, 2 1/16" 10M, FE, HWO, LU, EE, PSL-3, PR-1 0

KA9000-021500100 Gate Valve - FC, 2 1/16” 15M, FE, HWO, LU, EE, PSL-3, PR-1 0

Gate Valve - FC Forged, 2 9/16" 10M, FE, HWO, LU, EE, PSL-3, PR-1 0

KA9000-021500200 Gate Valve - FC, 2 9/16” 15M, FE, HWO, LU, EE, PSL-3, PR-1 0

KA9000-031000100 Gate Valve - FC, Forged, 3 1/16" 10M, FE, PU-EE-0.5- PSL-3, PR-1 4

Gate Valve - FC, 3 1/16” 15M, FE, HWO, LU, EE, PSL-3, PR-1 0

Gate Valve - FC, 3 1/16” 15M, FE, Hydraulic, LU, EE, PSL-3, PR-1 0

KA9000-041500100 Gate Valve - FC, 4 1/16” 15M, FE, HWO, LU, EE, PSL-3, PR-1 2

KA9000-051000100 Gate Valve - FC, 5 1/8” 10M, FE, HWO, LU, EE, PSL-3, PR-1 1

KA9000-071000100 Gate Valve - 7 1/16” 10M FE BSO, LU, EE, PSL-3, PR-1 5

K9000-071000101 Gate Vale, Body - 7 1/16" 10M, FE, BSO, PSL-3, 4130 49

K9000-011000101 Gate Valve, Body - 1 13/16" 10M, FE RTJ, PSL-1, 4130 0

K9100-070500201 Gate Valve, Bonnet - 7 1/16" 3/5M, Lower, BSO, 4130 70

K9100-070500102 Gate Valve, Bonnet - 7 1/16" 2/3/5M, Upper, Model M, 410SS, PSL-3 25

K9100-040500201 Gate Valve, Bonnet - 4 1/16" 3/5M, Model M, 4130, PSL-3 70




